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Chapter 10 - Planning for Capital Investments


Exercise 10-1A  No check figure

Exercise 10-2A  

a.
$75,472
b.
$80,000
Exercise 10-3A

a.
The present value of the $600,000 benefit: $408,350
Exercise 10-4A 
b. $51,541.94
Exercise 10-5A  $35,883.50
Exercise 10-6A  $2,272.84
Exercise 10-7A

a.
Net present values : $20,000 for Alternative 1 and $30,000 for Alternative 2
b.
Present value indices: 1.25 for Alternative 1 and 1.14 for Alternative 2

Exercise 10-8A   Annual cash flow: $160,000 for years 2 to 4
Exercise 10-9A
a.
6.144567
Exercise 10-10A  No check figure
Exercise 10-11A  No check figure
Exercise 10-12A

a.
Payback periods: 3 years for alternative 1 and 4 years for alternative 2

Exercise 10-13A

a.
3 years

b.
3.2 years

Exercise 10-14A  20%
Exercise 10-15A

a.
1.8 years

b.
Unadjusted rate of return: 44.4%

Problem 10-16A

a.
Alternative 1: $146,136.46
b.
Alternative 2:  1.18
Problem 10-17A

a.
Net present value: $(2,368)
c.
Net present value: $78,926
Problem 10-18A

a.
Net present value: $2,412,436

b.
Net present value: $(654,174)
Problem 10-19A

a.
Net present values: $8,664.00 for Project A and $7,440.15 for Project B
b. 
Internal rates of return: 10% for Project A and 12% for Project B
Problem 10-20A

a.
Payback period for alternative 1: 1.69 years


Unadjusted rate of return for alternative 2: 56.35%

Problem 10-21A
a.
Net present values: $37,724.66 for Opportunity 1 and $17,614.30 for Opportunity 2
b. 
Payback periods: about 3 years for Opportunity 1 and about 2 years for Opportunity 2
Problem 10-22A
a.
Net present value: $78,343

Present value index: 1.31 

b.
Net present value: $81,879

Present value index: 1.33 

Problem 10-23A

a.
Unadjusted rate of return: 14%

b.
Internal rate of return: 12%

Exercise 10-1B  No check figure

Exercise 10-2B  

a.
$37,037
Exercise 10-3B
a.
The present value of the $600,000 benefit: $450,789
Exercise 10-4B 
b. $8,916.33
Exercise 10-5B  $283.30
Exercise 10-6B  $3,064.14
Exercise 10-7B
a.
Net present values : $21,000 for Alternative 1 and $22,000 for Alternative 2
b.
Present value indices: 1.17 for Alternative 1 and 1.09 for Alternative 2

Exercise 10-8B   Annual cash flow: $6,050 
Exercise 10-9B
a.
3.433081
Exercise 10-10B  No check figure
Exercise 10-11B No check figure

Exercise 10-12B
a.
Payback periods: 2.4 years for alternative 1 and 2.8 years for alternative 2

Exercise 10-13B
a.
2 years

b.
2.9 years

Exercise 10-14B  30%
Exercise 10-15B
a.
3.2 years

b.
Unadjusted rate of return: 12.50%

Problem 10-16B
a.
Alternative 1: $58,562.88
b.
Alternative 2:  1.11
Problem 10-17B
a.
Net present value: $(30,059)

c.
Net present value: $112,585
Problem 10-18B
a.
Net present value: $131,175
b.
Net present value: $179,426
Problem 10-19B
a.
Net present values: $3,827.12 for Project 1 and $2,622.75 for Project 2
b. 
Internal rates of return: about 7.50% for Project 1 and about 8.50% for Project 2
Problem 10-20B
a.
Payback period for alternative 1: 2.96 years


Unadjusted rate of return for alternative 2: 33.75%

Problem 10-21B
a.
Net present values: $20,031.35 for Opportunity A and $75,276.04 for Opportunity B
b. 
Payback periods: between 2 and 3 years for Opportunity A and between 3 and 4 years for Opportunity 2
Problem 10-22B
a.
Net present value: $86,924

Present value index: 1.35 

b.
Net present value: $90,724

Present value index: 1.37 

Problem 10-23B
a.
Unadjusted rate of return: 22%

b.
Internal rate of return: approximately 8.50%
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